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£ A & 7%,
player 18 EUhH Gross Hdcp Net Rank
a H B 45 43 88 14 74 1
W EF g Z 47 44 91 17 74 2
i ¥ a 48 42 90 15 75 3
P N = 49 41 90 14 76
K K B X BB 51 50 101 18 83
Fh ¥ — 58 55 113 27 86
i & # A 56 59 115 28 87
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£ A 11%,
player EURH ESOES! Gross Hdcp Net Rank
5 & B B 44 43 87 19 68 1
B H = - 46 45 91 21 70 2
B A8 & D & 48 44 92 22 70 3
i H N 57 43 49 92 20 72
moH = K F 43 43 86 12 74
H & = A" 44 46 90 15 75
AN S = 43 48 91 13 78
1 5 ES = 41 50 91 13 78
A 1 &% 51 43 94 15 79
B ) & 44 50 94 15 79
B X + 5 51 52 103 22 81




